@ 3(4a-3) <1

D 3b-9<14

@(4x—|— 5)2 #2

® (6a-1)=720

® ab-2>4

F oy

O O 0 O
<M RCRCORT
o po plo plo
- o+ o ok
o el Bl e
% o o o
XX XX
01 0
VI V. Al A
o} o} e o]
o plo lo o
o o ok o
©0 0O




x <=3 QW —4x+6 9] A9 go] WslE Fotolet.

> E.

> ®E: —4x+6>18

B

x < -39 FWlof -4 & F3lch
—4x > 129] FHof 6 2 T3t
—4x+6>12+6

. —dx+6>18




® 7>-3

® x+5=4x>

@ 4x-1=7




ohe Qa5 A ol d7h e shbe?

® 4x-3(x-2)<38

@ -2x> -4

(@)x>2x+2

D, 2,03, x<2
@ x < -2




1 0.9

\_

—2x—4<2
—2x<2+4
—2x <6

Sox> -3




6.

AAHEA 92x — 3(2x - 4) — 1 < 3 & DEA7|E= 71 e H4E

ER

Ch "
H -

>
|> HMek: g

oH .

2x-3(2x-4)-1<3
2x—6x+12-1<3
—4x < -8

wabA] x > 2 o]B & ukESHE 713; 2he A4l 3 o}




g BEa 0@ tehfolar,

gt Hell 500 A Q1 2 x B3 3t g0l 3004 1 ¥4 2 EA] 2
A2 2000 9 Kok 27] gict,

@ 500x + 300 > 2000 @ 500 + x + 600 > 2000
® 500 4 x + 300 > 2000 @500)6 -+ 600 > 2000

® 500x — 600 > 2000

500x + 600 > 2000




ol

—_

_—

—r

I
No

—

Lo
il

ol

@x—3>2x

@D 2x>4

@ 3-2x<2x+1

5
—x>x—1

©)

® 2(x-2)>0







x740,1,2,3,4% U], REA 5y 1 <304 79] 7} ofd AL o}
a,

> E.

6]151340 1, 2, 3& HHUstd F-52°]
0111H
°H7}°}‘4E’r




11. x7F-2,-1,0,1,2¢ o, = 752 FolA si7t 8l A2?

D x-1<3 @ 3x+6<5 ® —x+7<5

@)ax-7>1 ® 2(x+2)<6

@ 4x-7>1°] x| F= YN EHA
x=-29u-15>1:AA
x=-14d-11>1:AA
x=0dd-7>1:AA
x=19-3>1:AA
x=241>1:AA
wetA] H5Alo] Zho| B A oh= x3k2




12. -1<x<2¥9d,a<-2x+1<bo|Ha+0b 29 77

O -2 @ -1 (@)0 @ 1 ® 2

—1<x<?2 9 7tzte] Hof —2 & TohH —4 < —2x < 2, Z+7}]
HWol 1 gs5td —33—2x+1<3 o]t
w2td a = -3, b=3 9]EZ (-3) + 3 =0 °|t}.




13.

D1 @ 2 3®)3 @ 4 ® 5
2-6x<-16

—6x < -18

x>3

webd BEA TN g AL ek 3 ol




14.

x 7t g o, o

o

8719 54

2
N
-

¥

Py
o
i

@D2ax-1>7
O -2x+3>14
@%x+4<3
@5x—-1<x+5

v VvV v Vv
0%
o o
©

02
L
@)

~&B

@D2x-127, x>4

1

© -2x+3>4, x<-3 @7 BRE S5
1 —

© cx+4<3, x<-5 (W7h BT &)

@5x-1<x+5, xsg




15.

4 -2 1 _ _
x; _3x2 > Sx 19 el M A 6.2 Ft
2(x+4)-3(3x-2)>2x+6
2x+8—-9x+6>2x+6
—9x > -8

<_
=9

webA] RHESHE A4 F 44 07 ol




@xsl @ x>1

@ 1<x ® si= glek

® 1<x

1.2x < 0.7x + 0.5 9] ol 10 & H5tHA
12x <7x+5

12x—7x <5

5x <5

T x<1




17. x7F A5 o, AARS2] 1.5 - 0.3x > 0.12x + 0.24 2]
I =

>

> Hehl 6

ael

ot
fllo

~&B

1.5-0.3x > 0.12x + 0.24
150 — 30x > 12x + 24
—30x — 12x > 24 — 150
—42x > -126

x<3

oA x=1, 2, 39|22 14+ 2+3 =6 °|th




18. =& Fx=2E 5= 2e 75427

@D 3x>6 (@)x>5—2x

@ 2x+3<4

@ —4x+1>—x

@x>5-2x (&)
2>5-2X%2




19. a<bh & M, S T 537 E- ALY
D a+4<b+4 @ -54+a<-5+b
1 1
@ 3a-1<3b-1 @ga<gb

@—Ba <-=3b




@)-1 ® 0 @ 1 ® 2

O -2

<~

2x—3x+9 <24+ 12x




